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CBT Sample assessment model answers

Advanced Diploma Synoptic Assessment (AVSY)

Sample assessment 1

Task 1.1  (15 marks)
[image: image2.png](a) Are these statements true or false?

‘I have no dutyto actin the public interest provided that actin the
interests of Laleham Ltd and the accountancy profession.”

“The ethical code provides detailed rules on how | should actin every
possible situation that | might encounter at work

SIS

(b) Show whether or not the ethical code specifically requires Tara to take each of the
following actions in order to act in line with the principle of professional behaviour.

Requiredinot required

‘Comply with all regulations that affect Laleham Ltd. [Reauired =]
Promote the reputation of the profession at every opportunity. |[Notrequired [l





[image: image3.png]Wajid has noticed that Tara does not conduct her work thoroughly and she often completes it ate. He.
believes that, as a resultof Tara's lack of diligence, she is in breach of one of the fundamental principles

(c) Which fundamental principle has Tara breached? (2 marks)

Integrity

Professional competence and due care.

Objectivty





Task 1.1  (continued)
[image: image4.png]Tara has been told that she is facing disciplinary procedures because she has behaved unethically.

(d) Show whether or not each organisation below may bring disciplinary procedures against Tara for her

unethical behaviour. 3 marks)
aaT [may bring disciplinary procedures against Tara.
The National Crime Agency (NCA) _ [maynot_Jlid] bring disciplinary procedures against Tara.
Laleham Ltd (Tara's employer) _[may bring disciplinary procedures against Tara.

Employment requlations require employers to pay workers atleast atthe National Minimum Wage (NMW).

Laleham Ltd makes high levels of profts. The Chief Executive insists that managers should be paid at a very
high rate with regular bonuses, but workers should receive only the NHW, with no entitiementto bonuses.

(e) Show whether the following statements are true o false. (2 marks)

‘The Chief Executive’s policy on employee pay raises doubts about the
ethical nature of the leadership and culture of Laleham Ltd.

Because Laleham Ltd complies with the NMIW regulations, itis automatically
considered to be behaving ethically in relation to fs employees.





Task 1.1  (continued)
[image: image5.png]lan is an accountant who has just started working for Penton Ltd, reporting to Hetie, who is also an
accountant. Ian has discovered a material error in Penton Ltd's Iast corporation tax return.

(0 What action must lan now take? (2 marks)

Resign.

Advise HMRC of the error without disclosing any information to Hettie or Penton Ltd.

Tell Hettie aboutthe error and recommend that Penton Ltd disclose the eror to HIRC.

Hetie realises that she has inadvertently become involved in Penton Lig's money laundering operation

() Complete the following statement. (2marks)

Hetiie may have a defence against a money laundering charge if she makes [an authorised disciosure il

to the relevant authoriy





Task 1.2  (16 marks)
[image: image6.png](a) What should be shown on the invoice as the tax point of this supply? (1 mark)

2o 200

14 April 20X7

(b) What other piece of information must be inserted to make this a valid VAT invoice? (1 mar)

Emporium Lid's VAT registration number.

BLW & Co's VAT registration number.





[image: image7.png](c) Whatis the correct amount of VAT that should be included on the invoice? (1 mark

3 435]





Task 1.2  (continued)

[image: image8.png](d) What figure will be inserted in Box 1 of the VAT return for the VAT period ended 31 March 20X7? (1 mark)

3 158198.70)

(On reviewing BLM & Co's day books, you have found two erors:

* OUlpUt VAT 0f £2983.50 on a sales invoice was wrongly recorded as sales on 29 March
* @ supplier had overstated input VAT by £50 on an invoice received and posted by BLM on 27 March

You prepare journals to correct these efrors.

(&) Once the journals have been processed, what will be the revised balance carried down on the VAT
account? (2 marks)

3 64516.63





[image: image9.png]You discoverthat BLM & Co has been suppling sinks to Malone Ltd, a company owned and run by the
brother of your fully-qualified colleague, Jed Malone. When you look atthe relevant invoices you realise that
Jed has been misrecording VAT so that BLU & Co's sales to Malone Ltd are overstated. As a result, Malone
Ltd qualifies for a 15% rade discount on its future purchases from BLH & Co.

() Applying the conceptual framework from the ethical code, which of the following describes the
situation faced by Jed Malone when recording sales to his brother's company? Choose ONE option. (2 marks)

A selfreview threatto professional competence and due care.

Afamiliarty treat o objectity.

An intimidation threat to professional behaviour





Task 1.2  (continued)

[image: image10.png]You conclude thatthe deliberate misrecording of VAT is unethical behaviour by Jed Malone.

(g) What should be your next action? (1 mark)

Send a Suspicious Activity Reportto the National Crime Agency.

Tell Brian and Lakmani about your concerns.

Onthe morning of 16 April, Jed Malone is dismissed for misconduct by BLH & Co and leaves the offce.
You are temporarily BLM & Co's only accountant A VAT oficer will be coming to the office for a planned visit
onthe afternoon of 16 Apri. You are not prepared for this visit and do not believe you can answer any
questions from the VAT officer effectively. Brian and Lakmani insist that you must be present and eal with the
VAT officer without assistance.

(h) Which of the following should be your next action? (2 marks)

Resign from BL & Co.

Request that the visit by the VAT officer is postponed.

Agree to deal with the VAT officer in line with your employers' insructions.






Task 1.2  (continued)

[image: image11.png](i) Drag each of the four options below to the appropriate Column and enter the totals to reconstruct the
‘sales ledger control account for the three months ended 31 March 20X7.

Sales ledger control account

Balance bid 492,409|Cash book 934,076
Sales day book 970,370 [Sales retums day book 21477
[Joumal (imrecoverable debt) 4330
Balance cld 487,354
Total 1462779 | Total 1446937

(2 marks)

Options:

() Calculate the missing figure i the sales ledger control account.

3 15842]

(1 mark)





[image: image12.png](K) Which of the following could the missing figure represent? (2 marks)

Discounts allowed.

Cheque from customer retumed unpaid by the bank.

Cash sales.





Task 1.3  (14 marks)
[image: image13.png](a) Using the FIFO method, value the inventory held on 31 January. (2 marks)

3 12120

(b) Using the AVCO method, value the inventory held on 31 January. (2 marks)

3 12300





(c) 
(i) When inventory is valued at marginal cost, only the variable costs of producing each item are included in the valuation. This includes the prime cost and the variable production overheads.


For the Jade sink, the marginal cost per unit is £111 ((1980+240)/20) so the 3 sinks held in inventory would be valued together at £333. 


When inventory is valued at full absorption cost, a share of fixed production overheads incurred by the business is included in the valuation, so the valuation is higher under absorption costing.


For the Jade sink, the absorption cost per unit is £125 ((1980+240+280)/20) so the 3 sinks held in inventory would be valued together at £375.


Note that, irrespective of method, the non-production overheads are not included in the inventory valuation.

(ii) In the year ended 31 December 20X7, if the partners had valued the Jade sinks at marginal cost rather than full absorption cost, reported profit would have been lower by £42 (375-333), because the share of fixed production overheads was expensed in 20X7, the year of production, rather than being absorbed into inventory, carried forward and expensed in the year of sale.

Task 1.3  (continued)

[image: image14.png]As at 31 December 20X7, BLM & Co's closing inventory valuation was £36,800. The partners expectto make
‘sales 0f£3,190,000 in 20X8, and they expect the inventory valuation to rise by 10% by the year end. The gross,
marginis expectedto be 45%, after deducing direct materials and direct Iabour.

(d) How much does BLM & Co expect to spend on direct materials and labour in 20X8?
‘Show your workings. (4 marks)

[Sates: 3,100,000

os: 35,800

[Wateriaisnabour (balancing figure): 1,758,180
Cs (3680071.1): (40,480)

COS (5% (1,754,500)

P (45%): 1,435,500




Task 1.4  (15 marks)
(a)

I do not have the experience, expertise (knowledge and skills), or time to complete the tasks properly.

It would be a breach of the principles of professional competence and due care, and integrity, to attempt to do so immediately. 

I am facing familiarity, intimidation and self-interest threats because the partners of BLM & Co are trying to appeal to my loyalty to colleagues and fear of losing my job.

I need to apply relevant safeguards to bring the threat to my principles down to an acceptable level.

(b)

I would tell Brian and Lakmani that I can only complete the tasks they have requested if I have additional training/qualified support/supervision to do so (which will take time). 

OR
I would tell Brian and Lakmani that I cannot undertake the task competently so it should be given to someone else/Jed Malone (if he has sufficient expertise)/Addo & Co staff. 

Task 1.4  (continued)

(c)
To:  Lakmani Moore Lakmani.Moore@BLMCo.co.uk
Subject:  BLM & Co: change in structure 
Hello Lakmani

Thank you for your email of 28/2/X8.  

(1)  A limited company is a business structure which is a separate legal entity distinct from its owners (known as shareholders). It needs to be registered at Companies House.  A company’s accounts and finances are separate from the personal finances of its owners.

(2) A company is owned by shareholders, who have equity shares in the company.  Persons acting as directors are responsible for running the company.  A company must have at least one shareholder and at least one director.  You and Brian can remain as the only owners if you own all the shares in the company between you; your ownership will be diluted if you include more shareholders. You can continue to run the company, acting as its only directors, or you may appoint additional directors.

Directors may be paid a salary by the company from its pre-tax profits. Shareholders may receive dividends paid from its after-tax profits. Any after-tax profits that are not paid out as dividends are reinvested in the company on the shareholders behalf.

(3) The key advantage of operating as a limited company is that of limited liability for the owners.  While you as partners in BLM & Co currently have unlimited liability for all the debts of the business, shareholders’ liability for any unpaid debts of the company is limited and they only stand to lose their investment in shares. The company as a separate legal entity remains fully liable for its debts.

The key disadvantage of operating as a limited company is that companies are heavily regulated. There are a number of accounting regulations involved with running a limited company, and the statutory requirements of the Companies Act 2006 apply, as do accounting standards. This means that there is a much greater administrative burden than for a partnership. A company must file accounts each year before a certain date and it must file documents when it is set up.  All this extra administration bears a cost.

I hope this is useful to you.  Please contact me if you have any questions.

Kind regards

Sam 

Task 2.1  (10 marks)
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Task 2.1  (continued)
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sales for sinks for the last 6 months of trading through various outlets

Description ~|ttem No{ ~ |sold |~ | when [~|where [~
1Bowl reversible drainer 28654 6 July Jones &Co
1.5 square reversible 1587 5 uly Elways
1square reversible 28791 5August Intemet
1Bowl reversible drainer 28654 6 Septembe Elways
1square reversible 28791 5 Septembe Zeebras

W4 v W[ Diamond sinks sold | Invoices . Formuls . Price st~ ¥

Invoice No~
281724
281760
281810
281856
281881

VAT

Net salel¥| Gross sale! ~

£744.00
£640.00
£680.00
£744.00
£680.00
£697.60

=SUBTOTAL(1,H17:H166)

£892.80
£768.00
£816.00
£892.80
£816.00

£697.60
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17 |Emerald
69 Quartz
95 Quartz
149 Emerald
166 Quartz
391

1 Bowl reversible drainer
1.5 square reversible

1 square reversible

1 Bowl reversible drainer
1 square reversible

- |item No | -
28654
15874
28791
28654
28791

Sales for sinks for the last 6 months of trading through various outlets

Sold - |When |-|Where |- InvoiceNo - Net Sale

6 July Jones & Co 281724 =D17*VLOOKUP(Invoices!C17, Price list'1SA$5:$D$12,4,FALSE)
July Elways 281760 69*VLOOKUP(Invoices!C69, Price list'1SA$5:$D$12,4,FALSE)
August Intemet 281810 ISAS5:SDS12,4, FALSE)
September Elways 281856 149*VLOOKUP(Invoices!C149, Price list'ISASS:SD$12,4,FALSE)
September Zeebras 281881 166°VLOOKUP(Invoices!C166, Price list'ISASS:SD$12,4,FALSE)
UBTOTAL(1,H17:H166)

wawn

VAT 0.2

| Gross sales
H17°$152+H17

149*$152+H149
166 $152+H166





Task 2.1  (continued)

[image: image18.png]A B c D E F [

ONLY Marketing are allowed to alter these prices

28654/Emerald |1 Bowl reversible d; £ 124.00
35698[Jade |1 Bowl & drainer £ 127.00
15874|Quartz_[1.5 square reversible £ 128.00
28791|Quartz |1 square reversible £ 136.00
26221[Jade |15 Bowl & drainer’ £ 145.00
28457|Diamond |1 cubic bow! & drainer £ 165.00
27894]Emerald [1.5 Bowl reversible drainer | £ 180.00
35789|Pearl _|1.5 reversible oval £ 198.00

Task 5 (¢) - Assessors to check that ONLY the above range is protected
You should be able to select every cell except for the above table.





Task 2.2  (16 marks)
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Task 2.2  (continued)
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BLM & Co: original budget for quarter ended 31 March 20X8

Item
Materials: Total

Direct labour: Total

Variable overheads: Total

Fixed overheads: Total

Grand Total

Original Budget

Sub Totals

‘Actual Results

Original Budget £Flexed Budget Actual Results Variances

Emai

k7]

340000
100000
157000
170000
767000

408000
120000
188400
170000
886400

394700
116500
179000
195000
885200

13300
3500
9400

-25000
1200





Task 2.2  (continued)
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Task 2.2  (continued)

[image: image22.png]B% 0 &

From _|Sam Jones <Sam Jones@BLMCo co uk>

Send [To [Cakmani Moore_<Lakmani Moore@BLMCo co ulc>; Brian Moore_<Brian Moore@BLWCo co uk>

[Subject [Variances in quarter to 31 March 20X8

[Fi Cakmani and Brian

[As promised. please find the explanations below--

[The operating profit variance from the flexed budget was £16,200 favourable. This arose because the budgeted profit when flexed to the actual
|volume of 6,000 units was £73.600, whereas we achieved an actual proft of £89.800.

[The single most significant favourable variance was sales revenue, which was £15,000 favourable. This may have arisen because the selling
price per unit was higher, following the marketing campaign

[The single most significant adverse variance was selling and distribution. which was £20,000 adverse. Since this is a fixed cost it was not
airectly caused by the increase in volume, and so was likely to have been caused by the increased spend on marketing which generated the
extra sales, or an increase in salaries





Task 2.3  (14 marks)
[image: image23.png]ion for year ended 31 December 20X8

Month
January
February
March
April

May

June

July
August
September
October
November
December

Brian
£420.00
£920.00

£1,072.50
£945.00
£888.00
£768.51
£835.05

£0.00
£729.50
£780.00
£645.00
£562.50
£8,586.06

Commission

Lakmanil
£540.00|
£855.00|
£920.00|
£896.25|
£962.00|
£870.00|
£615.00|
£840.00|

£0.00|
£859.14)
£698.10|
£432.91)
£8,500.40]





Task 2.3  (continued)

[image: image24.png]888688

)
50

Assessors - Table should contain all these elements before Goal Seek
(b) Partnership appropriation statement for year ended 31 December 20X8

‘This table should not be seen in the learner's answers unless the learner has not performed the Goal Seek.

Brian
profit for the year

salary

Interest on drawings

Commission

Residual profit available for appropriation
Profit share

Total amount distributed to each part

-£300
£8,586

£125,036
£133,322

Lakmani

£25,000
-£180
£8,500

£83,357
£116,678

Total
£250,000|
£25,000|

-£480)

£17,086|
£208,394)

£208,394)
£250,000

Assessors - Table should contain all these elements before Goal Seek
(¢) Partnership appropriation statement after Goal seek for year end 31 December 20X8

Brian
Profit for the year

salary

Interest on drawings

Commission

Residual profit available for appropriation
profit share

Total amount distributed to each part

-£300
£8,586

£130,019
£138,305

Lakmani

£25,000
-£180
£8,500

£86,680
£120,000

Total
£258,30|
£25,000|

-450)

£17,086|
£216,699)|
£216,699|

£258,305

Wy | BIM 1 Goalsesk 73

el





Task 2.3  (continued)

[image: image25.png]© Partnership appropriation after Goal Seek for year end 31 December 20X8

© N w

Brian Lakmani Total

Profit for the year o
10 salary £25,000 £25,000)
:; Interest on drawings -£300 -£180 -£480)
13 Commission £8,586 £8,500 £17,086)
14 Residual profit available for distribution £208,394]

Profit share £125,036 £83,357 £208,394]

Total profit appropriated to each partne____£133,322___ £116,678 £250,000

385 566
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